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INSTRUCTIONS TO CANDIDATES

This question paper has TWO Sections with a total of 50 questions. Each question carries one mark.
There are four choices for answer (A, B, C, D) to each question. Choose the correct answer (one only)
for each question and mark it on the Optical Response Sheet (ORS).

Questions have been set in English and Hindj, in case of discrepancy, the English version will prevail.

Read the instructions given in the ORS sheet carefully.

Use a Black pen only, otherwise, the ORS Sheet will not be evaluated.

Candidate must write his/her Name, Roll No., Date of Examination, and sign on the ORS Sheet.

The candidate should check that the booklet does not have any unprinted or torn or missing page/s or
question/s etc. If so, get it replaced with another question paper.

While marking your answer on the ORS Sheet, fully darken the circle.

One (1) mark will be awarded for each correct answer and minus one by three (-1/3) mark for each
incorrect answer. The unanswered questions will not attract negative marks.

Return the ORS Sheet to the invigilator after the examination is over.

Candidate is allowed to take away question paper after the examination.

Mobile, Electronic Watch and other Electronic Gadgets are prohibited in the examination.

Use of Unfair Means in Examination will lead to cancellation of candidature.

sFAteart & fow aregeer

. 38 9T 9 A & @3 ¢ TS FeT 50 T &1 YoAh TR o fAIT Uk 37k ¥ Gedeh U & IooR & fov

R fdhed (A, B, C, D) €1 9% e & ToIv HET 3 (3hdel Ueh) Tod 3R 38 3iiiCeshor Rediew e
(ORS) W A &

geaT 33N 3R B & I fre v § fAwafa & #mae &, 3rsh @wwtor A gem|

ORS efic # foU a1 el & & & 9d|

el @lel UeT ol U Y 3FUT, ORS 2Me & Hediehad TG FohaT ST

39t A IMIR.TE. e R A1, 3gshaAr, el Al forgel el qur gediei e g
Maaﬂas‘rwﬁmaﬁv%gﬁzﬁaﬂéaﬁﬁamwgmmmq}zmqmmaﬁgl
Ifg @ g, o 3§ A U 9F ¥ 96 &l

7. ORS i 9 YT 3o} 3ifehd X AT el & QU TRE F Hlell |

9.

Jdeh TEY 3ck & v Tah (1) 37 fear Smwenm 3R 9@« ed 3cak & fav v fags (-1/3) 3% gerw
SITUAT| 3efecdRel YAl X RUMcHS 37 =g GU Sear|
g FATCT gld & §1¢ 33RTA (ORS) ¢fic e &1 dler &I

10. T8t & §1g 3FHIGAR T TRATT o Sl T AT g
11. g & AEsd, sadeias g3t 3R 317 sAFeiad e fasfaa g
12, oQeT & e AeEt $T 3UANT A W SEAGIT g F Al Seet|

Page 1 of 14



Q.1

Q.2

Q.3

Q.4

Q.5

Read the passage below and choose the correct options (Q. 6 - Q.7): The Power of Silence

In a world dominated by constant communication and relentless noise, silence is often
undervalued. Yet, it serves as a powerful tool—not only for introspection but also for influence.
Effective leaders understand the strategic use of silence: a pause in conversation can command
attention, signal authority, or encourage others to speak. In negotiation, silence can be as
persuasive as speech, unsettling the other party into revealing more than intended. Additionally,
scientific studies suggest that moments of silence help the brain relax and reorganize, enhancing

focus and creativity. In essence, silence is not the absence of something, but the presence of a

General Section - 25 Questions

Each question carries 1 mark

Udd Wl F 13+ ¢

Select the word that is closest in meaning to the given word: “Obstinate.”

A. Flexible B. Ignorant

C. Stubborn D. Joyous

If1 you, I would apologize immediately. (Fill in the blank)
A was B. were

C. am D. be like

Choose the word that is opposite in meaning to the given word: “Mitigate.”

A. Alleviate B. Pardon
C. Intensify D. Delay

Which of the following sentences is grammatically correct?

A. The other witness, which was my brother, arrived later.
B. The other witness, whom was my brother, arrived later.
C. The other witness, what was my brother, arrived later.
D. The other witness, who was my brother, arrived later.

Insomnia : Sleep (Choose the correct analogy)

A. Amnesia : Memory B. Fever : Cold

C. Hunger : Thirst D. Fatigue : Energy

meaningful pause.
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Q.6

Q.7

Q.8

Q.9

The author’s tone in the passage is:

A. Critical and dismissive B. Humorous and sarcastic

C. Appreciative and reflective D. Neutral and factual

The phrase "not the absence of something, but the presence of a meaningful pause" suggests:

A. Silence is pointless without action.

B. Silence should be avoided in professional settings.
C. Silence can carry intentional meaning and depth.
D. Silence is only valuable during sleep.

A courier service restricts the dimensions of the boxes it will ship for a certain type of
service. The restriction states that for boxes shaped like rectangular prisms, the sum of the
perimeter of the base of the box and the height of the box cannot exceed 500 cm. The
perimeter of the base is determined using the width and length of the box. If a box has a
height of 220 cm and its length is 2.5 times the width, which inequality shows the allowable

width X, in cm, of the box?

Teh HRIT aT U AR bR &I @1 & U At S drel oal & A=A @l
giaefd &Idr &1 giaey & &gl 7ar § fF 3Iaer OeA S8 3eR gt seal &
T, aferd & 3MUR &1 R 3R dfeg H FAg &1 Aer 500 AT T 3W”E A @Y
HohdT g1 YR & IR Sigg I A 3R Fas &1 39T Fh AUiRa & S
gl afe forelr alerq &1 Furg 220 QT § 3R @ ofarg =SS dr 2.5 9= &, dr Hi
O ITATTAT Siaq Hr Tl A x, A 7 i &7

A. 0<x<40 B. 0<x<45
C. 0<x<52 D. 0<x<60

A bank offers 5% compound interest calculated on half-yearly basis. A customer deposits
Rs. 1600/- each on 1st January and 1st July of a year. At the end of the year, the amount
he would have gained by way of interest (only) is:

T dh HY-aT¥eh IMUR G 5% Tehalg AT Yald Xl gl Teh AGeh Teh ay
150eTadl 3R 15[eTS T 1600/- T9Y STAT HAT g1 a¥ & HA H, 38 AT (dhael) &
& H fhder Uiy wreg grem:

A 121 B. 125
C. 130 D. 131
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Q.10

Q.11

Q.12

Q.13

If the ratio of mean and median of a certain data is 5:11, then the ratio of its mode and
mean is:

uﬁﬁﬁﬁaa%a%mwaﬂ?mmwws:n%,ﬁmwm
ATET HT 3eTUTT FIT gH:

A. 11:5 B. 19:5
C. 23:5 D. 5:11
Select the number pair that is analogous to the given number pair. 13:338

3 HEIT oA HT TT R0 S QU 70 Hear A & qAT B 13:338

A. 5:52 B. 9:729
C. 8:128 D. 15:225

If sec O — tan O = n, then the value of sec 8 + tan @ is:
Ifecsec® —tan O = n, ar secH + tan O &1 AT g

A. nz-1 B. 1/n
C. 1-n D. 1-n2

Choose the Venn diagram from the given options that best relationship amongst the

following classes: Inert Gases, Chlorine, Helium

T av fawedt # ¥ a7 IM@ T, S il @@t & 99 @99 eor d@a Y

Tuifd X & T 3, Fara, §ifoaw
- ©0 - (©
C D.
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Q.14 Ondecreasing the price of T.V. sets by 30 %, its sale increased by 20 %. What is the effect
on the revenue received by the shopkeeper?

aral. AT T HAT H 30% H HAT B W gHA TR H 20% 1 gig gl Bl
GTACR I Aol dlel TeTEd X AT Jo7d ISl 87

A. 10 % increase (10% hr aj?’) B. 10 % decrease (10% T Sh&T)
C. 16 % increase (16% 1 aj?’) D. 16 % decrease (16% I &h&T)

Q.15 The product of two numbers is 120. The sum of their squares is 289. The sum of two

numbers is:

al FEAT3T T AUTAG 120 51 3T et 1 AT 289 8| & HE&AIT & AT B
A. 20 B. 23
C. 25 D. 27

Q.16 In the law of diminishing marginal utility, the marginal utility becomes zero at the point

where:

gt WA 3SUANENAT & s &, @i STAREIar 39 fog o« e g1 Sl § ST

A. Total utility starts increasing (Eah_c»r 3YARNAT F6o1 F9rar §)

B. Total utility is maximum (Pt 3YAIEAr AfSda grdr §)
C. Marginal utility is maximum (@ATT 3TN AfARIA gIer §)
D. Total utility is zero Gyl 3ggifarar Sl gr 8)

Q.17 Dr. B.R. Ambedkar described which fundamental right as “the heart and soul” of the
Indian Constitution?

sl dL3N. s o fre Aifes feR A SR @fdue @ ‘g 3R AT
SR

A. Right to Freedom of Religion (Article 25)
(enffes T T SR (3HeTeSe 25))
B. Right to Property (Article 31)
(ETfee &I 3SR (3Tede 31))
C. Right to Constitutional Remedies (Article 32)
(EaeTfee 3UURT &7 ISR (3Teoe 32))
D. Right to Education (Article 21A)
(Rt &7 3fHR (31eTede 21A))
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Q.18

Q.19

Q.20

Q.21

Q.22

Which of the following is a direct tax in India?

AT H Aaf@d # ¥ i a1 9cge7 X &7

A. Goods and Services Tax (HTel 3R JaT )

=

Sales Tax (foshT &)

C. Income Tax (3T ) D. Excise Duty (3c91e [eh)

The majority of the Harappan pottery was:

g3l & AU ade o
A. Polychrome pottery (agi?ﬁ o) B. Plain pottery (&I sdieT)

C. Black-painted pottery (Tel 38T & dcle)

o

Red-painted pottery (elTel 3T & cie)

“Equal pay for equal work for men and women” is an example of which of the following?

“qeul AR AfG3T & AU FAET FH & AT FA I AT 7 @ fanerenr
3ETEI0T 87

A. A Fundamental Right guaranteed by the Constitution
(@faers g@rT IREd Toh Hifdh 31fwR)
B. A Directive Principle of State Policy
T Afa =1 v [ Rg)
C. A Fundamental Duty of citizens
(@R FT T Hifow FHae)
D. Not a constitutional provision
(TenfAs wTaHTeT g

Which key combination is used to insert a page break in MS Word?

THTH g8 H UST s STelel & ToIU foha ol Tisfel 1 39T fhar Sirer &7

A. Shift + Enter B. Alt + Enter

C. Ctrl + Enter D. Ctrl + Shift + Enter

What will be the result of 1011 + 1101 in binary?

ISR H 1011 + 1101 HT GRUTA FIT g
A. 11000 B. 10001

C. 11110 D. 11100
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Q.23

Q.24

Q.25

Which of following web browser is developed by Microsoft?
AT & @ Sl &1 A9 FBFR ASHETC SaRT AR fomam I g7
A. Edge (TS) B. Chrome (3p1#)

C. Firefox (STIRWPIFH) D. Netscape Navigator (sicEhd a1fddIe)

What characteristic of RAM (Random Access Memory) makes it not suitable for
permanent storage?

RAM (Ys# Tar® #AARY) @ HaT & R[Avar s& sarh sisror & e sugea @8
el g7

A. Too slow (ag?r 511y B. Unreliable (31faeaa=r)
C. Volatile (3R D. Too bulky (§gT )

Floating point representation is used to store:

Follfear uige gfafafica &1 39T [T & TIda F&a & v ovar rar &

A. Boolean values (aﬁﬂﬂ HToT)

B. whole numbers (tl;Uﬁ' H@T&)

C. real numbers (arEdfas TEI)
D. integers (EF\Uﬂ?)
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Q.26

Q.27

Q.28

Q.29

Post Related Section: 25 Questions

Each question carries 1 mark

UAF YT F13F &

Numeric filing system typically requires which additional tool to locate files by name or
subject?

C&ATcHAS Brsfoel A&cq & A7 1 /YT & MR W Bl T gdT o9l & fow
IMHAR W frg 3faRea 3ustor &Y 3magsar gdr &7

A. A color-coding scheme on file folders
(PSSl BIeaT I Teh {IT-hITSIT TTolel)
B. An alphabetical index or cross-reference list
(T FUTATAT o AT HE-THE Fh
C. A computer database and no physical index
(Teh &HegeX Seed 3R &S Hifdew Faewieh =18
D. No additional tools are needed if using numbers

(TEIT3T T 3TINRT Il W fhdT ITARFT SIRIOT ST HTAITRAT el dldl &)

The life cycle of a record generally includes which sequence of stages?

fordl RS & Shaet ook & 3 AR 9T =RON 7 dieT AT HHA ATAST BT &7
A. Drafting, reviewing, and printing (oT&goT, e AR gl )

B. Proposal, discussion, and archiving (W,ﬂ?ff 3R '\‘:I?J%')

C. Receipt, maintenance, and archiving (Tfed, T&@X@1G 3R qI8)

D. Requisition, approval, and filing (WT,HW 3R wrsfeie)

Which of the following is a standard method for archiving documents?

gEadS B Faed W & v Feafef@a & @ w9 @ [’ a9 &

A. Pasting (TRIaerT=T) B. Scanning (ThfeiaT)
C. Shredding (&fsm) D. Burning (aﬁ'«n)

Copyrights, Patents and Trademarks are examples of

FraRTSe, Oée 3R ZHS F 30T &l
A. Current assets (dTe] #cr%?:ﬁ”) B. Fixed assets (3Tdel W)
C. Intangible assets (3-1?1?‘[ m) D. Investments (f=a2r)
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Q.30

Q.31

Q.32

Q.33

Q.34

The debts which are to be repaid within a short period (a year or less) are referred to as:

S RO 1 3T A (vh a¥ o1 38 HA) H DT A Gl 8, 306 =
JhR ¥ Tefid fHar S &:

A. Current Liabilities (ﬂ'l?v[\aﬂalii?il.l) B. Fixed liabilities (faTad SaerRam)
C. Contingent liabilities (TR THS calgram)  D. Investments (f=1d2n)

Suppliers personal account are seen in the:

IYfdrdiait & safFaera @ e 7 ¢ ad §:

A. Sales Ledger (Tashd @TAT §8)) B. Nominal ledger (ATHHATT @TAT &)

C. General Ledger (HTHT @IdT &) D. Purchases Ledger (T @TdT SgT)

Income deemed to be received in India is given under which section of the Income Tax

Act, 19617
AR H UIcd Al ST dTell 3T 3T AAFTH, 1961 fT F@ &RT & 3asia &

ST &7

A. Section -10 B. Section -7

C. Section -5 D. Section -12

GST, a consumption of goods and service tax is:

Seged), e a&] Ud dar W §:

A. Development based (faera 3menia) B. Dividend based (eITTer 3end)
C. Destiny based (379 3TaTRd) D. Destination based (ITded AT4TR)
Sales invoices are first entered in the .

ICEIRCICIGICC R H o Fu S gl

A. Cash Book (T ) B. Purchase Book (&g %)

C. Sales Journal (fSshT Steter) D. Sales Account (ferhr @ram)
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Q.35

Q.36

Q.37

Q.38

Q.39

The following is the value of service under Article 15(1):

3Tede 15(1) & ded dar &1 #ed fAfafad g
A. Wholesale cost (UTeh oIT3TcT) B. Market price (STeIR Hed)

C. Maximum Retail Price (HW!%?RT Hed) D. Transaction amount (eleige ITTA)

What is the primary purpose of a "pre-decision note"?

"q9-fAvTT e T TrAfAE 32T AT B
A. To summarize the final decision to staff (wEaTRaT & 3ifad o &1 arwr &am

B. To present the case to the decision-maker (ﬁﬁ'ﬂﬁ‘f & GHET AT HEJd )
C. To record the date of the decision in organization (3167 H fAvTr Hr A gt =)

D. To draft the final order of decision (f0T & 3ifde 3MT¢er &1 AFIET AR FHI)

Which of the following is an office automation tool?

fFrfaf@a & @ sl ar by aT g 82

A. Photoshop (q?IETQﬁ'q) B. Google Chrome (3[dTel $IH)
C. MS Excel (THUH TFA) D. VLC Player (SITTET Tol¥X)
From the following, DO letter refers to , in official communication.

ffaf@a & @, po 97 snfteiRe TR & __ &t dcfdia X gl
A. Divisional Official Letter (faamefT e 99)

B. Demi Official letter (3-T'Efl' RIS T7)
C. Dispatch Order letter (BT 3meer o)
D. Daily Order letter (&fas 3meer T=)

The language of an office note should generally be in:

FATTT Al HT HINT ATAAR W 5H YhR gl A1T:

A. First person (FUH cTFd) B. Second person (E'\'ﬁ?ﬁ?:l' cgfed)
C. Third person (q?hzr ) D. Any person (F15 §Y cafFd)
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Q.40

Q.41

Q.42

Q. 43

In the context of office files, "docketing" refers to:

FRATAT FIScAl & TedT H, "Siahfear” 1 37 §:

A. Numbering and indexing each document in a file

(P8 H Ycdeh GEATAST Pl hAlfohd AT AR HeTh{AT =)

B. Sending a document via postal mail (through the mail docket)

(3T ol (Aol Slehc o HATEIH W) & ATETH A GTdTdl Hsle)
C. Drafting a letter on the noting side of a file

(P & AT U&7 W Teh 9T H HHIGT IR Fel)
D. Locking a file in a secure cabinet (docket)

(BISeT T Ueh FIIATT Hiewe (Sihe) H dieh HLa)

Which of the following is not an intangible asset?

rTaae & & Pl 3wt @ &
A. Patents (Ucc) B. Computer Software (EFQII‘\ET QﬁCI—Ea'CIT)
C. E-Journals (3-STeTod) D. Computer Hardware ($U€I‘\ET HEERES)

Which form is used for tax deducted at source (TDS) returns in India?

HRT & T W R Feldr (EEwd) ResT & v 5T Bl &1 39397 fhar Jrar &2
A. Form 26AS (B8 26AS) B. Form 16 (%3 16)

C. Form 24Q (%1 24Q) D. Form 10E (%1 10E)

ISO 14000 standard deals with:
ST 14000 ATH fFOT FaAT &

A Production Management (3cUTEsT TatleT)
B. Environmental Management (TATAROT JaeeT)
C. Ethics Management GIGEGIRERD))
D. Total Quality Management (el JTOTaCAT JeeeT)
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Q.44 Who is responsible for maintaining the asset register in a department?

Q.45

Q.46

Q.47

T 3T & gufcd TSEeT S0 WA FT [SFAeRT hadr grdr &2

A. HR Officer GIGEEICERGIBEIRY)
B. Store Keeper (78R T&Th)

C. Finance Officer (faca it

D. Office Superintendent (EFI?:I‘IFI'J 37efeTeR)

The four types of social responsibility include:

Ao FAGRT & IR 9K &.

A. legal, philanthropic, economic, and ethical (aaaﬁr, RIgerT, 31w 3R ?\ﬁEF)
B. ethical, moral, social, and economic (ﬁﬁiﬁ, FITRIIT, TATTSS 3T HI'@EF)
C. philanthropic, justice, economic, and ethical (TR, FCI'I'Jq"\Uﬁ', 3F AR ?\ﬁiﬁ)

D. legal, moral, ethical, and economic (ehla-ia-i“l, Core [ 10T, Afae 3k 3-11'1'-5135)

N

Most companies begin the process of establishing organizational ethics programs by

developing

3w FURAT TISACHS AfdhdT FIHA TG A Fr ufsear
A ad & Y& A &

A. ethics training programs (AfciehT JTETOT HTsha)
B. codes of conduct (3R HigdT)

C. ethics enforcement mechanisms (sifdehdl Jadel )
D. hidden agendas (f&a gv Tai3)

What is the standard file cover color for urgent files?

3cATaTH FISll & [olT HAAS WISl hal &l WT FAT 87

A. Yellow (4Teln) B. Blue (=iTeln)
C. Red (eTeT) D. Green (gX1)
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Q.48 Triple Bottom Line (TBL) consist of:
feger sice o (Sdve) & anfAe &

A. Profit, Production, People (cITH, 3cTTC, WTeT)
B. People, Planet, Profit (Fﬁ?T, 9Ig, oIl
C. Period, People, Planet (373t ofieT, 71%)

D. Production, Profit, People (3cYTCed, ofTH, Fﬂﬂ)

Q.49 What does the abbreviation 'RTGS' stand for in office finance operations?

PRI Gcd TaTeld H 'RTGS' T Tieyed AT &7 87

A. Real Time Gross Settlement (Raer e=sA g JTolHT)
B. Reserve Transfer Group Scheme (ﬁGIT:T TR a9 ThT)
C. Rapid Transfer of Goods System (s grEm 3T a8 feea)

D. Right to Goods Supply ($C ¢ IsH W‘Ié)

Q.50 The reduction of employees through VRS and CRS schemes is called:
IMIRTH AR WIRTH A3 & ATCTH F FAAMRAT T weldl Hl gl ST g

A. Outsourcing (3T3CAITHIT) B. Reducing (ﬁ?{q‘ﬁﬂ)
C. Downsizing (T3S 13T) D. Layoff (e31T%)
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